
ΕΠΙΜΕΡΙΣΤΙΚΗ ΙΔΙΟΤΗΤΑ ΠΟΛΛΑΠΛΑΣΙΑΣΜΟΥ (1) – ΛΥΣΕΙΣ σελ. 68 + 69 + 70 

 

6 x (10 + 3) 
(6x10) + (6x3) 
60 + 18 
78 

5 x (20 + 8) 
(5x20) + (5x8) 
100 + 40 
140 

5 x (20 + 3) 
(5x20) + (5x3) 
100 + 15 
115 

4 x (10 + 8) 
(4x10) + (4x8) 
40 + 32 
72 

Εδώ το σχήμα 

δεν ταιριάζει με 

τη μαθηματική 

πρόταση 5 Χ 28, 

άρα δε 

χρειάζεται να 

το δείξετε 

σχηματικά. 
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8 x 28 = 8 x (20 + 8) 
            = (8x20) + (8x8) 
            = 160 + 64 
            = 224  

4 x 27 = 4 x (20 + 7) 
            = (4x20) + (4x7) 
            = 80 + 28 
            = 108  
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5 x 132 = 5 x (100 + 30 + 2) 
            = (5x100) + (5x30) + (5x2) 
             = 500 + 150 + 10 
             = 660 

3 x 428 = 3 x (400 + 20 + 8) 
             = (3x400) + (3x20) + (3x8) 
             = 1200 + 60 + 24 
             = 1284 

7 x 219 = 7 x (200 + 10 + 9) 
             = (7x200) + (7x10) + (7x9) 
             = 1400 + 70 + 63 
             = 1533 
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